Rule: (a+b)(a-b)=a*-b*

Example: (X-2) X+ 2= +2X-2%x-4=% -4

Use the FOIL method or DOTS rule to multiply the following binomiais.

1. (b-7DMo+7) 11, (82 -12)(8x2+12)
b?-49 b4y —14
2, (5x+Y)Ex-Y) 12, (2b*-2)(2b* + 2)
A5x*-y~ dp' -4
3. (4d-Db)(4a + b) 13. (3x + 2)(3x - 2)
[ba?—b = Qy* -4
4. (x+3)(x-3) 14. (12+b)(12-b)
A== JHd - >
5 (c+d)c-d) 16, (X-y)X+Y)
-4 * >4 &
6 X+ DX-1) 16. (X - yz)(X + yz) "
)(} | %7« _ Lﬁa%
7. Bb+7)@3b-7) 17. (12b - 4H(12b + 4)
4p> - 4G 44 y” -1k
8. (x+y)(3x-Yy) 18. (7x - 3y)(7x + 3y)
x> = 4qxr ~aq
Q. (2¢ - y)(2x? +Y?) 19, (-5x*+ 3)(-5x°- 3)
Ax* ~4 Ro%* -9
10, (3x2 - )(3x% + X) 20. (x*-8x)(x*+ 8x)
dad—x= X4k
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Polynomials

W
Products of Pomomials
I 2y-5=2-10y | |

Use the distributive property to multiply these polynomials.

1. 3x(x-3) -3Ix¥(4x% - 3X + 3)
3x2-aX ~|a\><~f o ¥ e
2. 2xy(2x 3y) 12. 5b(4b? - 6b? - 6)
P (aM 700 b*-30p° - %0k
3. 4a(2a + 4) 13, X0+ X +X)
S ga* Flln 3,\,)&9*_;,7( -y /},,l)(
4, -5y¥(7y - 8y | 14. (3x* - 5x2 - 4)(-3x%)
’26‘)34*{0?\1 ] qxﬂHSE%’iles
5. -5ab(éa - 4b) 15, 3y (Y*-3y +2)
-304% b *30&‘0 3833-%3%0"{
6. alx+ 1) 16. -4x%(5 - 3x + 3%+ 4x%)
axX T & C=A0 xR AR
7. yiy-4) 17. 3b(4b3-12b’-7)
YR ~Hy S Y1 AL~
8. 5b(3 - b) * “4%3(3x3 + 8x2 + -9x) 3
16k - 919. _.’Axg 3AxF «—é(g'x
9. ax(x-3) 19, (HNBE-T) 3
qxl—la\)‘\ S =aTs 4
10. 4x¥(3x?-Xx) 2 | 20. (3x2 6x)(-x) 2
LA HK -3 %
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